e
- : 1 ADA MOTOR
BERLIET-RVI
type. Cyl. 83.80 |50 A=135 Std.
6 -1.23 97.4 C=1473
-1.20 L =261 10 6902
-26.50 H+ F=9.36+0.74
120.00 13430 = 12 6913
CRP 14 6923
Combustion Bowl 84.90
Motor MIDR 635.40 Cyl. 90.30 |55 A=143 Std.
12024 cmm, 226 kW (307 PS), 15:1 6 -0.80 112 C=147
Vehicle 305, 310, PX 30, R 310 T, 1—%% % h =%86 10 6903
1979- . =
979 135.00 12 6915
14 6925
CRP et
& !
L
Combustion Bowl 78.00 A=143 14 6926
C=149
L =286
H=7.3
A=143.25 146927
C=149
L =286
H=7.3
A=144 14 6928
C=148
L =286
H=7.5
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— ADA MOTOR
BERLIET-RVI
Motor MIDR 635.40 G / H Cyl. 9030 |55 4cr | A=143 Std.
12024 cmm, 255 kW (346 PS), 15:1 | 6 080 |[112 ; Cc=147
Vehicle R 340, R 350, R 365, AE 380, -26.00 L =286 10 6904
R 380, 1987- 135.00 170.20 w4 Cr | H=7
: 12 6916
CRP ——— 146925
- 2]
@ !
N
N7 e
Combustion Bowl 78.00 A=143 146926
C=149
L =286
H=7.3
A=143.25 14 6927
C=149
L =286
H=7.3
A=144 14 6928
Cc=148
L=286
H=7.5
Motor MIDR 635.40 M 3 Cyl. 90.40 |55 — 4Cr | A=143 Std.
12024 cmm, 235 kW (320 PS), 18:1 | 6 -0.80 | 108 3 C=149
Vehicle CLM 320, GBH 320, CBH 320, -21.80 L =287 10 6907
07.1996- 135.00 149.40 SFmm® 4 Cr | H+ F=7.58+1.02
Motor MIDR 635.40 N 3 ‘ 12 6916
12024 cmm, 283 kW (385 PS), 18:1 fIpu ST I
Vehicle AE 385, Major R 385, CRP A T ,
CLM 385, GBH 385,CBH 385,07.1996- TF

Motor MIDR 635.40 J 3
12024 cmm, 309 kW (420 PS), 18:1
Vehicle AE 420, Major R 420, 07.1996-

Combustion Bowl 77.80

¢
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— = ADA MOTOR
BERLIET-RVI
Motor MIDS 635.40 Cyl. 90.30 |55 35Cr | A=143 Std.
12024 cmm, 206 kW (280 PS), 15:1 6 -0.80 |112 3 C=147
Vehicle CBH 280, GBH 280, 1982- 1—%(9). é(z) Iﬁ:%% 10 6908
. 6 Cr =
135.00 12 6918
CRP ‘L c .| 14 6925
Gi :
L
% % >
Combustion Bowl 78.00 A=143 14 6926
C=149
L =286
H=73
A=14325 14 6927
C=149
L =286
H=73
A=144 14 5208
C=148
L =286
H=7.5
Motor 12000 cc Diesel Cyl. 90.30 55 A=143 Std.
Vehicle 340 6x4, 340 6x6, 350 6x4, 6 -0.80 |112 Cc=147
350 6x6, CBH 340, CLM 340, R 340, -26.00 L =286 10 6909
R 350, -05.1988, 06.1988- 135.00 170.20 =0 H=7
: 12 6918

R
U
T —»

CRP Y€ | 14 6925
7 71
% L
(£
\Q

Combustion Bowl 78.00 A=143 14 6926
C=149
L =286
H=73

A=143.25 14 6927
C=149
L =286
H=7.3

A=144 14 6928
C=148
L =286
H=17.5
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